


11. Given that
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N n=14+2+3+44+5 find Y (5n + 2.
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19. The term 4082400x2y® appears in the expansion of (kx + wy)P, where k, w, and p are integers. Find the
sumk +w + p.
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1 -6 11. 387
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( ) M:st b; this — §_ Must be this

3 2 ordered pair 7 reduced fraction.

4. > 14.
k

1 1 O (degrees optional) P
5, 15. 2w

2 4 Must be this Must be exactly

6. » 2 5 reduced fraction. 16. 8 .\/ﬁ this answer.
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- Must be this
7 2 9 reduced fraction. 1 7 1 O l 7
El'_ M:;st bg tt_his
7 5 reduced fraction,
S 18.
0 8073 19, 18
15 9
_— M.ust be exactly Must be exactl
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